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= jet whistle

= air tone

= embrouchure hole blocked

= embrouchure hole open (normal playing)

= gradually open embrouchure

= consonant attack

= tongue stop (suddenly close embrouchure hole
with tongue)

= audible key clack

= natural harmonic
partial

fundamental

= trill between two notes with audible
key clacks and !utter-tongued air-tone

= move up and down overblown
partials while changing the
fundamental as shown.

= trill to any accessible
key or groups of keys
above the fundamental note.

= note "ngered above the "ngerboard
on the indicated string. Play with low bow
pressure to produce “white noise” sound.

= as above, tremoloed to a higher
"nger position on the same string.

= right hand taps the string indicated
in quick tremolo while theleft hand
"ngers a harmonic gliss up the string. 
Very little pitched material should result.
Bow is not used.

= play the edge of the body of the cello.
Position and direction of notehead indicates
position and direction of bow on cello. the lines
represent a mirror image of the ‘cello i.e.:

side closest to
“C” string

side closest to
“A” string

resultant harmonic

harmonic "ngered position

fundamental "ngered position

Arti!cial Harmonics

= "ngered harmonic position

= harmonic trill (unpitched,
residual or unstable higher note)

tremolo between the
natural harmonic, the
fundamental and the
note (f sharp) at the
"ngered position created
by moving "nger quickly 
between di#erent types of 
pressure.
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